e L

RAhGT20C o KE 2L anT BLLEYE ko BE Ik
HUN D 5B PR o hedin A LELT=,  JR& vz
XHhhn K0zBR o by Binout EFINT#E L5,

8508 () 0 I 2 3 4 5
BE(T) 20,0 28,0 36,0 44.1 521 60,0

S A
kaoBA 11 | 75 2¢vi= 5% §%F5 Lar3
AL R A

FoMiz8fr-THE~xTHELIw

()

100
90 - .
F Lo n < 500% 1 9
80 %<n§£i§\;¢®"c v Jar,
70 v
60 . ! g = X + 20 = )
50 : 2 1Nz,
40 :
° y(°C)
30 100
90
10e
80
10 70
60
0 5 10 15 20 50
()
40
30
Rk K B fF v 8D T 12 1R A0 IR, 20
A L4500 b A5 /7 1R U R, 10
‘ x(4)
€0 =8X+ 20
X+ = §0
= ~ 2 = '7\ ‘7,
¥1= fo i 7 X n.¢51%

?7(‘-‘-60



